normalized X?

10

Entries
Mean

102K

107

107

.v

0 2 4 6 8101214161820
X2

[ normalized x? probability |

Ratio

0.7

o6f--i---:

0.5

Entries

_| mean
Std Dev

0.4f- i

0.3

0.2

0.1

Q

1.5

q JLI
0 010203 04050607 0809 1
Prob(x?)

= DQMstep3_TT_CKF
e DQMstep3_TT_default
wmmm= DQMstep3_TT_defaultNEWT-oldsamples

< x2/ndf >

iy

Ratio

< x2/ ndf >

Ratio

G
A 4F
S
- 3:_
o F
o 2F-
A\ E
-
oF-
_1;_.
_25_.
_3;_.
—af-
o S
2 2
x
£

0
107

T

<pr/p > (%)

Ratio

< X2/ ndf >

Ratio

I
=

SR L LA LA LA LA LM L LA LA
5
%
>

o 9 A

0 2 3
TP n (PCA to beamline)

i
T T[T [T [T T I [T TIT T

1072 107
AR(track, ]et?



	Contents
	Page 1


